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A=Al C2ot=22 ZHIAFS(1EH)

i 0 & 2 g'ji;z; HmZ2 2 I =
6,414,501  4171,969| 2,242,622
5714000|  3575430| 2,138,570
3,304,000| 2,876,430 427,570
3,304,000| 2,876,430 427,570
3157161 2,796,650 360,511|401-01 (Al€8l)

483,000,000 X 90.76/100
(= 338,000)

(Al 100,371)

1,000,000,000& X 90.85/100
(= 500,000)

(Al 408,500)

438,371

908,500
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150,000,000& X 99.28/100
(&  45,000&)

(Al 103,920&)

20,000,000& X 14
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10,000& X 10,000m

5,000,000& X 20H 2

400,000& X 500m

500,000& X 2000 2

X 99.10/100

X 99.10/100

X 99.28/100

X 99.10/100

200,000 X 30000 2

1,000,000& X 200m

50,000,

X 99.28/100

000& X 14

500,000& X 100m

5,000,000& X 109H 2~

148,920
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99,100

99,100

198,560

99,100
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198,560
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L (230) R KHAHE S HIB: (234) =2 (crl:@e)
- oy | HEE | =y R BT -
= 0l A o4
AGE Q2R FHIBA 500,000 X 1,000m X 99.28/100 = 496,400
THBX T GILBR FHIZA 500,000 X 100m = 50,000
HEDUOID Bl4T A2 A 400,000 X 200n = 80,000
NEIARIZ Bt NS At 400,000 X 100m = 40,000
HEBR ANES RNES 50,000,0002 X 14! X 99.10/100 = 49,550
MEjZR el 21,000,0008 X 14l = 21,000
126,352 61,470 64,882 401-02 (2elbl)
O ateeg
[EXAIS]
AN Gt HEH ALY 483,000,0002 X 8.52/100 = 41,152
AEAl =S5t HHIALY (1SHH) 1,000,000,0008 X 8.52/100 = 85,200
20,487 18,310 2177|401-03 (A& = CHHI)
O ateeg
[EXAIS]
AN G2 HEH ALY 483,000,0002 X 0.72/100 = 3477




(200) Kt = = K| = 5t (230) QS KHAHE S K& (234) =2 CERED
i 2 ol st BEE | o, & = 9 =
HEAl LSEARER FHHIAFY (1EHH) 1,000,000,0002 X 0.63/100 = 6,300
OFXI2KI 2 BH4e22 HHIAFY 150,000,0009 X 0.72/100 = 1,080
[RFRIALS ]
sl =4 10,0002 X 10,000m X 0.90/100 = 900
QAR AZRE UL B 5,000,0002 X 20044 X 0.90/100 = 900
LS54 C HH| 400,0002! X 500m X 0.72/100 = 1,440
sl 212 22 500,0009 X 200JHA X 0.90/100 = 900
OFKI2KI P BH4e22 HHI2AH 1,000,0009! X 200m X 0.72/100 = 1,440
AUE QARAZ HY| B A 500,0002 X 1,000m X 0.72/100 = 3,600
NEBZ AILS SNEL 50,000,0008! X 14! X 0.90/100 = 450
235
JNIHEX 2,250,000 690,000 1,560,000
401
A& H 2 20| 2,250,000 690,000 1,560,000
2,234,340 684,852|  1,549488|401-01 (Al&Hl)
O st=Helz
SAJ|E YFMEAI| DH(I5 /h, 1TH)
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250,000,0002 X 1CH X 99.28/100 = 248,200
SAIIE ANSEI| DH(28M /h, 20H)

300,000,00080 X 2CH X 99.37/100 = 596,220
StemMEIR SR PLC Rl DA 600,000,000 X 14! X 99.37/100 = 596220
SaATel AEINL(50m /h ) 2CH 50,000,000% X 2CH X 99.10/100 = 99,100
SAZX OIZAIE A 1A 500,000,00080 X 141 X 99.28/100 = 496,400
FAK AIAIHA 14 100,000,000% X 14! X 99.10/100 = 99,100
AAKIE SEAIL K 14 100,000,000% X 14! X 99.10/100 = 99,100

15,660 5,148 10,512(401-03 (A€ 2 CHHI)

g0l g0 nM(5m/h, 10H)

250,000,000 X 1CH X 0.72/100 = 1,800
g0l Fa=s=I M (28m/h, 201)

300,000,000& X 2CH X 0.63/100 = 3,780
ot=xXcld &M PLC EHl WX 600,000,000& X 14l X 0.63/100 = 3,780




(200) KMt X & g (230) R 8 AHAHF S MI&: (235) 01 H & Xl (28 9)
i, = AT
&FoH v Hlus2 s = ) =
e = o oiarey | 12 s =
cHATE AIEINS(50m /h) 2CH 50,000,000€ X 20# X 0.90/100 = 900
=X 0ISAIE e 14 500,000,000& X 14! X 0.72/100 = 3,600
AKX AEIHAE 14 100,000,000& X 14! X 0.90/100 = 900
EAK S EFAIE A 14 100,000,000& X 14! X 0.90/100 = 900
236
pNE= it 140,000 0 140,000
405
A&HFSHIS 140,000 0 140,000
140,000 0 140,000 405-01 (KHAHRISHI)
ol=Xeld EZEZ(15E) 2 140,000,000& X 1CH = 140,000
237
=l 20,000 9,000 11,000
405
A&HFSHIS 20,000 9,000 11,000
20,000 9,000 11,000 [ 405-01 (XS SHI)
ot=HMeldE ZAHNH FAAHOE 2 3,000,000& X 1CH = 3,000
oteXeld YWuretd| 2 201(&3018) 6,000,000& X 2CH = 12,000
ot=Xel& Wetetd] 2l 10 (TMS4A!) 2,000,000& X 1CH = 2,000
0oz 2 (Hoa) 10 3,000,000& X 1 = 3,000




(200) Kt 2 = K| & 8 (290)J|EFRHE = X| & ME: (291) "2 B E28s D
o = ol At PSIE D=2t & = 9 =
& K&t = - Ol A oK ree & B =
290
JIEIRE =X & 514,721 378,493 136,228
291
N H X aE 514,721 378,493 136,228
751
= 514,721 378,493 136,228
514,721 378,493 136,228 75101 (R N2 ==EHEZ)
O staeg
09BTL, 10BTL LCH2(=DEXZ2) 205,833,650 X 14 = 205,834
09BTL, 10BTL LCH2(2DEXZ0IX) 1,053,600% X 14l = 1,254
AESIAKEIT S L NSAI (2HD12) 297,713,310 X 14 = 297,714
SZSIAKLIE EL U NZALS (2HDII20IX) 9,918,330 X 14l = 9,919
800
0l Hl Bl 185,870 218,046 A32,176
800
ofl bl B 185,870 218,046 A32,176
801
ol 5l Bl 185,870 218,046 A32,176
O ollblbl 185,870,0008 = 185,870




